

A - فرض

تأليف

سورنا بنی طالب

$$g(m) = f(\tan m + \sqrt{r} \cos a) \text{ و } g\left(\frac{r}{r}\right) = \sqrt{r}$$

1

$$g'(a) = (r \tan m \times \frac{1}{\cos^2 m} - \sqrt{r} \sin a) f'(\tan m + \sqrt{r} \cos a)$$

$$g\left(\frac{r}{r}\right) = (r \times 1 \times r - 1) f'(1+1) = r f'(r) = \sqrt{r} \Rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f'\left(\frac{\sqrt{r}}{r}\right) - r g'\left(\frac{\sqrt{r}}{r}\right) \Rightarrow (f - r g)' \left(\frac{\sqrt{r}}{r}\right) \Rightarrow \sin\left(\frac{\sqrt{r}}{r}\right) = -\frac{1}{r}$$

2

$$\boxed{-\frac{1}{r}}$$

$$\frac{1 + \cos^r m}{r - \cos^r m} - \frac{r}{r - \cos m} = \frac{1 + \cos^r m - 1 - r \cos m}{r - \cos^r m} = \frac{\cos m (\cos^r m - r)}{(r - \cos m)(r + \cos m)} = -\cos m$$

$$\Rightarrow \lim_{m \rightarrow 0} \cos m \rightarrow -(-\sin m) = \sin m$$

$$f(m) = |r_m - r| \sqrt{a_m}$$

$$(m = \frac{r}{r}) \rightarrow 1 \sqrt{a_m} = r \sqrt{r}$$

3

$$\left(\frac{r}{r}\right)^+ \rightarrow (r_m - r) \sqrt{a_m} \xrightarrow{\lim_{m \rightarrow 0} \cos m} r \sqrt{a_m} + \frac{a}{r \sqrt{a_m}} \times 0 = r \sqrt{a_m}$$

$$1 \sqrt{\frac{r}{r}} a = r \sqrt{r}$$

$$\left(\frac{r}{r}\right)^- \rightarrow (-r_m + r) \sqrt{a_m} \rightarrow -r \sqrt{a_m} + \frac{a}{r \sqrt{a_m}} \times 0 = -r \sqrt{a_m}$$

$$\Rightarrow a = \frac{1}{r}$$

$$y = -a_m + r$$

$$f(m) + f'(m) = -1$$

$$(m = r)$$

$$f'(r) = -a = -\frac{1}{r}$$

4

$$y = -a_n + r \quad f(a) + f'(a) = -1 \quad (a=r) \quad f'(r) = -a = \underline{\underline{-0.1}}$$

$$-r_0 + r - a = -1 \rightarrow r - a = -1 \rightarrow a = 0.1$$

$$y = a + 0 \rightarrow y = \frac{1}{v} a + \frac{0}{v} \quad y = \frac{a_{n-1}}{r_{n-1}}$$

$$\frac{a(r_{n+1}) - r(a_{n-1})}{(r_{n+1})^r} = \frac{1}{v} \Rightarrow \frac{r+a}{(r_{n+1})^r} = \frac{1}{v} \Rightarrow a_{n+1} + r_{n+1} = va + r$$

$$a_{n+1} + r_{n+1} - r - va = 0 \Rightarrow a_{n+1} + r_{n+1} - r_0 - va = 0 \quad \Delta = 0 \Rightarrow r_0 - r_0 - va = 0$$

$$-r_0 - va = 1 \Rightarrow \underline{\underline{a = -r}}$$

وقتی بر حسب a و r (مستقیم) و a و r (مستقیم) $a = a$ و $r = r$

$$1 + r - a = 0 \quad f'(a) = r_{n+1} + a$$

$$r + a = 0$$

$$\Rightarrow a = -r, b = -r$$

$$b - a = -r + r = \underline{\underline{0}}$$

$$f(a) = \sin^n(a^r) \quad \lim_{n \rightarrow \infty} \frac{f(a) + f'(a)}{(1 - \cos a)^n} = r \sqrt{r}$$

$$\text{Simplify} \quad \frac{a^{rn} \times r_{n+1} r_{n-1}}{\left(\frac{a^{rn}}{r}\right)^n} = r_{n+1} \times r^n \times a^{n-1-r_n}$$

$$\sin^n(a^r) \approx a^{rn} \quad \xrightarrow{\text{Simplify}} r_{n+1} a^{rn-1}$$

$$\rightarrow \text{as } n \rightarrow \infty \quad r_{n+1} - r_n = 1$$

$$r_{n+1} \times r^n = r^{\frac{n+1}{r}}$$

$$\left\{ \begin{array}{l} n = r \\ m = \frac{v}{r} \end{array} \right.$$

$$r_{m+n} = \underline{\underline{r}}$$

$$f(n) = \frac{\sqrt{n+1}}{\sqrt{n}-1}$$

$$(f^{-1}(r))' = ? \quad \frac{1}{f'(q)} = \frac{1}{-\frac{1}{r}} = -r$$

$$\frac{\sqrt{n+1}}{\sqrt{n}-1} = r \rightarrow \sqrt{n+1} \leq r\sqrt{n}-r \rightarrow \sqrt{n} = r \rightarrow \underline{n \leq q}$$

$$f'(n) = \frac{\frac{1}{\sqrt{n}} - \frac{r}{\sqrt{n}}}{(\sqrt{n}-1)^r} \Rightarrow f'(q) = \frac{-\frac{1}{r}}{\frac{1}{q}} = -\frac{1}{r}$$

$$f(n) = (n^r+1)^r (n+1) \quad \frac{f(0) - f(-1)}{0 - (-1)} = f(0) - f(-1) = 1 - n(-n+1) = n^2 - n = -1$$

$$-r\alpha = 1 \quad f'(1) = r(r_n)(n^r+1)^r \left(-\frac{1}{r} + 1 \right) + \left(-\frac{1}{r} \right) (n^r+1)^r = 1r - r = \underline{1} \quad \alpha = -\frac{1}{r}$$

$$f(n) = \sin n \cos r_n$$

$$g(n) = (\sin^r n - \cos^r n) (\sin^r n + \cos^r n)$$

$$\Rightarrow \frac{f(\frac{\pi}{2}) - f(\frac{\pi}{2})}{g(\frac{\pi}{2}) - g(\frac{\pi}{2})} = \frac{-1 - 0}{1 - 0} = -1$$

10

9

8